

1 Doplňte chybějící údaje.

1.1 $1,3 \text{ m}^2 + 125 \text{ dm}^2 = \dots\dots\dots \text{ cm}^2$

1.2 $0,6 \text{ km}^2 + 2\,540 \text{ a} = 85,4 \dots\dots\dots$

1.3 $55 \text{ dm}^2 + \dots\dots\dots \text{ cm}^2 = 562\,000 \text{ mm}^2$

1 Doplňte chybějící údaje.

1.1 $1,3 \text{ m}^2 + 125 \text{ dm}^2 = \dots\dots\dots \text{ cm}^2$

1.2 $0,6 \text{ km}^2 + 2\,540 \text{ a} = 85,4 \dots\dots\dots$

1.3 $55 \text{ dm}^2 + \dots\dots\dots \text{ cm}^2 = 562\,000 \text{ mm}^2$

1.1 $130 \text{ dm}^2 + 125 \text{ dm}^2 = 255 \text{ dm}^2 = 25\,500 \text{ cm}^2$

1.2 $6\,000 \text{ a} + 2\,540 \text{ a} = 8\,540 \text{ a} = 85,4 \text{ ha}$

1.3 $5\,500 \text{ cm}^2 + 120 \text{ cm}^2 = 562\,000 \text{ mm}^2$
